18

Hig\ T &

II\‘

~
~

E

N e2ess

EXMK264

L100

N

P 2.54

I
B BERTI%

OF:F:2:3.vt
N: B@#hX E: /MpEeE)C

@ BFNT -
ZTHENT A:
M6 : #ZZFNT M

St

N izieEm Rt

T
@

I
IR RE AR

B2 AR 303 4R
12T ETE BEF
RS (IR B E) 0.18mm/300mm
BRERE 0.20mm/300mm
IRAR R 35%-85%
TERE -10~+50°C
" B —fgm+/-0.13mm(IREZHF)
RIFER BEIR1R - BiZ KA S8 ah i@ A
R E M FEEEMER POM
122/ S 6 —WAEFEEEAE(TIZ 150mm) BEEERES EEMIBIE

R [

WIRING DIAGRAM

430

RED/White £1/ El
B B
Green Green/White
45 #/8



EfRD\TERERE

IZIRERRNIER Anmsmmmes  mpREERRANEEA RS S

Size8 Size11 Size14 Size17 Size23/Size24 Size34
o7 020mm 028mm O035mm 042mm 056/060mm 086mm
B | 18E -
KiE B E PEAREE mm (inch)
inch 3.5 477 $5.56 6.35 8 $9.525 ®10 $15.875
(mm) (0.138") (0.188") (0.218") (0.250") (0.315”) (0.375") (0.394") (0.625")
UEIREFE mm (inch)
AL 0.000063” 0.0125"
(0.001588) (0.3175)
AA 0.00012" 0.024” 0.024”
(0.003048) (0.6096) (0.6096)
A 0.000125” 0.025” 0.025”
(0.003175) (0.635) (0.635)
B 0.00024” 0.048” 0.048”
(0.006096) (1.2192) (1.2192)
D 0.00025” 0.05” 0.05” 0.05”
(0.00635) (1.27) (1.27) (1.27)
F 0.0003125" 0.0625” 0.0625”
(0.0079375) (1.5875) (1.5875)
H 0.000417” 0.083” 0.083”
(0.010583) (2.1167) (2.1167)
J 0.00048” 0.096” 0.096”
(0.012192) (2.4384) (2.4384)
K 0.0005" 0.1’ 0.1” 0.1” 0.1”
(0.0127) (2.54) (2.54) (2.54) (2.54)
L 0.000625” 0.125” 0.125” 0.125”
(0.015875) (3.175) (3.175) (3.175)
p 0.000833” 0.167"
(0.021167) (4.2333)
Q 0.00096” 0.192" 0.192”
(0.024384) (4.8768) (4.8768)
R 0.001” 0.2” 0.2" 0.2”
(0.0254) (5.08) (5.08) (5.08)
S 0.00125” 0.25” 0.25” 0.25”
(0.03175) (6.35) (6.35) (6.35)
U 0.001665" 0.333”
(0.042291) (8.4582)
UA 0.0016667” 0.3333”
(0.042333) (8.4667)
v 0.001875” 0.375”
(0.047625) (9.525)
W 0.00192” 0.384” 0.384”
(0.048768) (9.7536) (9.7536)
X 0.002" 0.4” 0.4”
(0.0508) (10.16) (10.16)
v 0.0025" 0.5” 0.5” 0.5
(0.0635) (12.7) (12.7) (12.7)
7 0.005" 17 1"
(0.0127) (25.4) (25.4)
AF 0.000059” 0.0118”
(0.00015) (0.3)
AB 0.000197” 0.0394" 0.0394”
(0.005) (1.0) (1.0)
G 0.000394” 0.0787” %*0.0787" 0.0787"
(0.01) (2.0) (2.0) (2.0)
M 0.000787” 0.1575” *0.1575"
(0.02) (4.0) (4.0)
T 0.001575” 0.3150” %*0.3150"
(0.04) (8.0) (8.0)

* IWEE RS HRIRERERMI Type N

19



. - FHEE R FHEE IR BERE IEARER 248 E 42 Pitch mm
‘ Rated Voitage Rated Current Motor Length Screw Dia. 1.2 2.0 ‘ 4.0
Type number
V/Phase A/Phase mm mm # 5 Thrust KgF (@600 RPM)
EXMK223-L1000-P*** 2.5 0.5 27.2 35 1.8 1.5 0.6
EXMK224-L1000-P*** 4.5 0.5 38.1 3.5 4.2 3.2 2.8
=
B ARBE(MM)
) (4.000 £0.039]
EBANNRY) Oz - 101.600 1 o

015.40 £0.15 L

b ~

D16 _0.05
Q

o) I
g 1.5 0,2
4-M2 | 2.5 MIN. :\bﬂ]ﬂ]ﬂ; g o ‘ JST:Z%?;ZR_M
\ HZ :
g w
® s
1 2l
N ZhERENTS(E TR
020 - L — 76.200 £2 .
{' /\
(@ (y g
3 I 1
g O ,
]
2 .

E j]ﬂﬂ]]{ - TUJUST: S6B-ZR-3.4 -
88 N UW 4-M27 2.5 ZHR-6 & B
< =~

w
-l
\1]__ 1
i
— - @ 6.35
KgF EXMK223+EXMK224
5 EXMK224 1.2
Acvvecoriiiiiiiininn.. Y LR T, TP P W
4 Y LR Bhrcececceceeinninninnnns A
Y e S

EXMK224 4.0

) EXMK223 1.2 A

—2 0\. EXMK223 2.0
EXMK223 4.0 ® —

60 180 300 450 600 750




- - TSR FEHESR BERE IRARER 1242 B A2 Pitch mm
‘ Rated Voitage Rated Current Motor Length Screw Dia. 2.54 5.08 ‘ 10.16
Type number
V/Phase A/Phase mm mm # 5 Thrust KgF (@600 RPM)
EXMK233-L1000-P*** 2.2 1 33.5 4.77 45 2.6 1.6
EXMK234-L100-P*** 2.25 1.6 45.0 4.77 7.8 5.5 22
|J [==]
101,600 32
H SEEMM) - .
=1 /A L
EEﬁ(N 7f§§|.]) 023 20.15 1.5 +0.2 | -
rI- .l\ j ! i
A TN 7
g
BN ,
2 E©9 )| i
1 1\89Y) |
y \\ . M3X0,5
o) I |
» e
4-M2.5 T 25 min_ & | JST- S6B-ZR-3.4
g g Y ZHR-6
Ha
gy oS3
0
3%
| i
NEBEEENTN(E RII)
[4.000 £0.079]
028.2 o — L 101.600 +2
023 £0.15
I"'—"I - 2 0.2 !
I
1 I
g 2
I 2 ©
N
Q)
8 |
0
il
| 0 ’2 ’
[ QN N
4-M2.5 T 2.5 min U H b - 5
o M4 "JST: S6B-ZR-3.4 [ﬁ
S e ZHR-4
NS v oZ
Al B |
v.
l —--&0-—
KgF EXMK233+EXMK234
12
10
8
6
4
EXMK234 10.2
2
0 EXMK233.-10.2 EXMK233 5.1
60 180 300 450 600 750 900

6

21



22

- - HEEE BEEER BEERE IZRER 1242 EF2 Pitch mm
’ Rated Voitage Rated Current Motor Length Screw Dia. 2.54 4.0 ‘ 8.0
Type number
V/Phase A/Phase mm mm HE ) Thrust KgF (@600 RPM)
EXMK243-L1500-P** 3.6 1.0 341 6.35 18 1 6
EXMK245-L15001-P*** 4.5 1.2 48.1 6.35 28 18 13
B AEE(MM)
= 22 [6.000 +0.039 ]
B3E3V(N 3R5) 042.2 max e 152.400 #1 -—
031+£0.2 L
W—— B I-_——-
| O o
S
o C.’ Q
R}
iy ®
A
°/) ] ?
4=M3x0.5 ¥ 4 Min [ S?: B §  JST: S6B-PH-K-S
* AN LN PN PHR-6
*\ ~N
@
N EREEENTS(E 7R3)) |
w
' 042.2 max [6.000 20.079 ] s,
- L 152.400 £2 — o
03102 N
. 2.10.2 § Y
: Ry .
<
& >
al
~
o
m $19.05 A
! - @22 -0.05 »
o g # [o°]
4=M3x0.5 ¥ 4 Min M. §2s AL \\ Y ¥
A QLo JST: S6B-PH-K-S | ]
mﬂ] 1o~ 2 PHR-6 i o
™
- I
1 “ D12
KgF EXMK243+EXMK245
35
30
25
20
15 EXMK245 8.0~ e
Acoooreeiinnnnnnn, P TP . FY R TT T TRUR Aeorimnia T A
10 o— —20 o ke
- EXMK243 4.0° @ — e,
~—C— ——
EXMK243 8.0 — @ —o
0
60 180 300 450 600 750 900




x - RETE BB BEEER BERE IRIRER 1242872 Pitch mm
. bh Rated Voitage Rated Current Motor Length Screw Dia. 2.54 ‘ 5.08 ‘ 10.16
ype number
V/Phase A/Phase mm mm #EJ Thrust KgF (@600 RPM)
EXMK264-L1501-P*** 3.2 2.0 45 9.52 46 28 12
EXMK266-L1501-P*** 4.2 25 65 9.52 90 43 23
B AEEMM)
EEIV(N R3) B O57.15 - L 152.400 #1
47.1 £0.25
8
?
=
3
S
*
ql Jl
o0
4-35.17 thru \[W P | M =
- Y o<
hCy  ss
[ee] o
< @
28
- . o &
5\ EREEENS(E R51) 84
~ é V
[6.000 £0.079]
057.15 o L o 152.400 £2 : 7*\
D47.1 £0.25 1.50 £0.25 =+ by
H J |
o | )
% AR
° LR
g =
1 il S
. N 11
i )
o NUIA 5 w3
4-@5.17 thru UU §§ v I’ “ ) 4
M |’ ‘ Sw S
o| b =
=
~
- t 15.88|
KgF EXMK264+EXMK266
100
80
60
40 EXMK266-5.1
20
0 EXMK264 10.2 QMKZ% 02
60 180 300 450 600 750 900 1200




24

x & BEE BHEER BERE IZIRER IR1F B #2 Pitch mm
‘ Rated Voitage Rated Current Motor Length Screw Dia. 2.54 ‘ 5.08 ‘ 12.70
Type number
V/Phase A/Phase mm mm # 7] Thrust KgF (@600 RPM)
EXMK297-L1500-P*** 5.1 3.0 76 15.87 170 ‘ 130 ‘ 50
B AEEMM)
[.000 +0.039
EiBN(N R3) Das 152,400 21
— =
- 6932025 __] 20
9 T
g !
b
+l
2
o
i M12X1.75
! I
; 1T |
4465 | ag . ]l] a-i10
=]
- 0
™o
S ERERENTN(E R51) 5
Ose [6.000 +0.079 ]
{ 80 152,400 +2
- 069.3 2025 J y e
1 28,
8 — -
L N\ , LAY
r& __// %
T 1% 1
M
4=P65 ’
(ri
S
D
KgF EXMK297
250
200 ‘\o\
.\ —o— EXMK297 2.5,150
150 o
EXMK297 5.1,95
100
H +
-
50 —— EXMK297 12.7,22.5
0
60 180 240 300 360 450




